Object: Land the ball on the flattest & closest dry place on the green

The correct choice in this example would be 8 iron
Using a regular putting stroke 1:4 ratio or 12-4=8

Maximum ground time and minimum air time Hole
10 total feet - base unit 2 feet and (4) 2 foot units

Distance to green is 1 foot Each unit is 2 feet
Land 1 foot on green
Ball @
‘ 1 ‘ 1 | 2 | 3 | 4
1 part air 4 parts roll
Base Unit in this Number of Units in this
example is 2 feet example is 4 units of 2 feet
There are two ways to look at this
12 minus number of units = club or Club Ratio ( Air to Roll)
12 - 1 = Sand Wedge Sand wedge 1:1
12 - 2 = Pitching wedge Pitching Wedge 1 : 2
12 -3 =9iron 9 iron 1:3
12 -4 =8 iron 8 iron 1:4
12 -5 =7 1iron 7 iron 1:5
12 -6 =6 iron 6 iron 1:6
12 -7 =5iron 5 iron 1:7
12 - 8 = 4 iron or hybrid 4 iron 1:8
12 -9 = 3 iron or hybrid 3 iron 1:9

12 -10 = 2 iron or 5 wood
12 -11 = 3 wood
12 - 12 = Driver

There aren't many times you
will get past using a 3 iron
or hybrid



